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oust a king or kill him—they merely separated from him. .

general agreement that the French were not as unified as the Americans, who, for
the most part, put aside their political differences until after they had already
formed a new nation. The French, despite their Tennis Court Oatl:. could not dg
so. Infighting led to inner turmoil, civil war, and eventually the Reign of Terror, in
which political dissidents were executed in large numbers. Additionally, the
French people themselves were not unified. The nation had so much
stratification that it was impossible to unite all of them—the workers, the
peasants, the middle-class, the nobles, the clergy—into one cause. And the
attempts to do so under a new religion, the Divine Cult of Reason, certainly did
not help. The Americans, remember, never attempted to change the society at
large; rather, they merely attempted to change the government.

» Questions

1. Why and how did the Reign of Terror happen?

2. In what ways does the author suggest that the American Revolution was
easier to complete than the French Revolution?

3. Of the challenges mentioned facing the French revolutionaries, which d0
you think had the greatest impact on their inability to complete @
successful revolution? Why?

4. Of the strengths mentioned aiding the American revolutionaries, which d0
you think had the greatest impact on their ability to complete 2

successful revolution? Why?
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